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Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Answers to the two sections should be written in separate answer books.

SECTION -1

Q1) A) Explain any three of the following.

1)  Imidazole undergoes electrophilic substitution only under vigorous
conditions. [9]

i) Indole on reaction with chloroform and KOH in ethanol gives 3-
chloroquinoline as one of the products.

i) Reactivity of pyrrole is much higher than pyridine, pyrimidine in
electrophilic substitution reaction.

iv) Isoquinoline reacts with sodamide to give 1-amino isoquinoline,
while 5-nitro isoquinoline on reaction with ammonia gives 6-amino-
5-nitro isoquinoline.

B) How supra molecular chemistry is different than traditional chemistry?[3]

02) A) Give thereactions of following reagents with quinoline. [4]
) TsC, KCN, CH, C/,, HOR.T.
i)  KNH,, NH; (lig.), -66°c.
i)  30% Oleum, 90°c.
iv) LAH,E"°.
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B) Predict the products in any four of the following. [8]
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C) Write notes on (any two) [4]

i)  Hantzsch pyridine synthesis
i)  Fischer indole synthesis
iil) Fieist-Benary synthesis.

03) A) Suggest suitable mechanism for any two of the following. [6]
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SECTION -11

04) Answer any four of the following. [16]

i)  Two Ruff degradation on an aldohexose give an aldo tetrose that is
oxidised by HNo, to meso tartaric acid. Give the possible structures of
aldohexose.

i)  Write the synthesis of s-Epichlorohydrin.
i) Draw 1C, and 4C, conformation of D-Glucose and L-Glucose.
iv) Describe the basic principles of green chemistry.
v)  Write the short notes on
a) Anomeric effect

b) Anti-lone pair donation hypothesis

035) Complete the following reaction sequence (any three) [12]
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06) A) Solve any two of the following [8]
i)  Calculate the atom economy for following reactions.
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i)  Write short note on ADME.
i)  Write short note on receptor and drug receptor interaction.
B) Answer the following (4]
1)  Retrosynthetic analysis of s-propanediol
i) Ruleof five
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